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Using a calculator to find Sin, Cos, and Tan. S ¢ pvon

Use your calulator to find each
5 to the nearest hundredth. \yiiten as ratios
4 4
1. Tan53.43°= |.35  TanA =5
53.13° R __(_1(,_
P 2 2 Sins31ze= -850  SmhTg
(oohi= ~2
3. Cos53.130= - 0! NN

Use 2~ VNP at the right:

Up to this point you haven't really needed to use
your calculator to Find Sin, Cos, and Tan except

to find a missing side using the Pythagorean Theorem.

Why then are there buttons on the calculator
for Sin, Cos, and Tan?

M

Find each to the nearest hundredth.

7. sin35°= .57 10. =M = g8 ©

8 tan3se = 10 11 cos3se=. YL

9. cosM 12. tanM



Solve each. Round to the nearest tenth.

0.73 _ 42 038 _ x

o il T
.O

57.5 a

solve by cross multiplying.

Setting up a proportion to find a missing side using

the trigonometric ratios. SOHCAHTOA
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Finding a missing side using a trig ratio. Sopy cperton

O
50 A
1. Decide if you are using Sin, Cos, or
2. Write the Tan ratio as a fraction. —éo
3. Find the Tan26° using your calculator. _ 4G x
4. Set these two equal to each other and solve for x. ;B :__'\io\
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13. If AP = 20feer find the length of 17V to the nearest tenth.
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A 16 foot ladder leans against
a wall of a building. The ladder
makes a 63° with the ground.

How far up the wall can the ladder |, L
reach? !

X = 430 o
Snbld = 1o



